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"Equation of a straight line." (Standard)

Question 1
The line [ has equation 3x + 5y — 2 = 0.

Find the gradient of [;.

(2 marks)
Question 2
The line L, with equation 2x + 3y — 14 = 0 crosses the x-axis at the point B.
Find the coordinates of B.

(2 marks)

Question 3
The line [ passes through the point A(2,5) and has gradient —%.

Find an equation of 4, giving your answer in the form y = mx + c.

Question 4

Find an equation of the line joining A(7,4) and B(2,0), giving your answer in the form
ax + by + ¢ = 0, where a, b and c are integers.

(3 marks)

Question 5
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The points Q(1,3) and R(7,0) lie on the line 1, as shown in the figure.

The length of QR is aV/5. Find the value of a.
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Question 6
The line L1 has equation 4y + 3 = 2x.
The line L, passes through the point C(2,4) and is perpendicular to L.

Find an equation for L,, giving your answer in the form ax + by + ¢ = 0, where a, b, c are
integers.

(5 marks)

Question 7
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P Not to scale

Figure 1

The straight line l;, shown in Figure 1, has equation 5y = 4x + 10
The point P with x-coordinate 5 lies on [;

The straight line [, is perpendicular to [; and passes through P.

Find an equation for [, writing your answer in the form ax + by + ¢ = 0 where a, b and ¢
are integers.

(4 marks)

Question 8

The points P and Q have coordinates (—1,6) and (9,0) respectively.
The line L is perpendicular to PQ and passes through the mid-point of PQ.

Find the equation for [, giving your answer in the form ax + by + ¢ = 0, where a, b and ¢
are integers.

(5 marks)
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Mark scheme

Question 1

3

5

(a) Putting the equation in the form y = mx (+c) and attempting to extract the
mi or mx (not the c), M1
or finding 2 points on the line and using the correct gradient formula.

Gradient = — % {or equivalent) Al

(2)

Question 2

(7,0)

7 o LE | MIATHE

=~

(d|y=0, = B(7,0) or x=

Question 3

y=—%x+6

Question 4

4x —5y—8=0o0r—4x+5y+8=0

4-0 (4
=422 (=) .

Equation of 4B is: y—U:i{x—Z) or y—4=i(x—'?) M1
5 5 (0.e.)
4x-5y- 8=0 (o.e) Al

Question 5

a=3

Question 6

2x+y—8=0

{4y +3=2x} = y=2x_3

1
= m(L)=
So m(L,) =-2 Blft
L: y-4=-2(x-12) M1
L: 2x+y—-8=0 orl: 2x+1ly—-8=0 Al

c!r2 MI1 Al
4
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Question 7

5x+4y—49=0

States or implies that the gradient of

= % E.g. may be implied by a

4 perpendicular gradient of —% .Do
Gradient of | ==

radient ot/ 5 oe not award this mark for just Bl
rearranging to y = %x+_._ur|]ess

dy 4
they then state e.p. — =—
cy then state e.g. =
States or implies that P has

coordinates (5, 6). y=6is

Point P=(3,6) sufficient. May be seen on the Bl
diagram.
Correct straight line method using
_5_y-en 1
4 x—5 P(5, *67) and gradient of—m.
or
y_n6h=_%(x_5'} Unless —%cr —% is being used as | pf]
or the gradient here, the gradient of It

clearly needs to have been identified
and its negative reciprocal
attempted to score this mark.

S5x+4y—49=0 Accept any ime_ger dlrlult‘i‘p]e of this Al
equation including “= 0

"6"=—%[5]+c:>c=...

Question 8

5 -3y—-11=0

Mid-point of PO is (4, 3) Bl
0-6 3

PO m == [:‘gJ Bl

Gradient perpendicular to PO = —i (= g) M1

y—3:%[x—4] M1

9x-3y-11=0 or 3y - 5x +11 = 0 or multiples e.g. 10x - 6y -22=0 | A1l
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